2= 64 ™= 3t

W/C: 14/05/18 C wmen = Jbieal = Jleo =to
Circle your answer.

[t mark]

@ 14 50 100

NAME...eeee et
- h 2 Whatis 800 million in standard form? L0 ..0 OO, SeLact™
(1= [0l 1 1] N Circle your answer. . A
e E-Ox O [t mark]
goox10° [ 8x10® ) 8 x 10° 0.8 x 10"
Assessment Week I I
% \0
2 = |
3 Circle the expression that is equivalent to (4a5]2 = L "(&) = lba
ey [t mark]
Year 10 Higher Tier Maths GCSE (e ted’ 8a" 8’
4 y= % Y=
Non-Ca ICU Iator Pa per if the value of x doubles, what happens to the velue of »?
Circle your answer
e [ mark]
< +2 / x2 +5 x5
- \‘_-/
Time allowed: 1 Hour
5(a) Factoise % -100 = Cgc, + OV ~
. X o IO) {1 mark]

DiECoende T ©F  wob Saudicld

Maximum mark: 54
ey (R0t '—EQ)




5 (b} Solve ITx+6>1+2x

~2~c -L>= 2 marks]
Sa+rb> '}
ox 2 ;5 25
D X OF
b
Answer I > ’
6 Work out the value of (\E)Z x (J—f)z
[2 marks]
= 3x2 = [
Answer é
7 Here is a quarter circle of radius 6 cm
‘\ Not drawn
accurately
A= Tc*

-

6cm

Work out the area of the quarter circle.
Give your answer in terms of .

b

[2 marks}

LT~ %Tf

Answer

Three whole numbers are each rounded to the nearest 10
The sum of the rounded numbers is 70

Work out the maximum possible sum for the original three numbers.

ee 70 = 1O + 3o + 3o

{2 marks]

L )
16D coulh spavd 2SR TYH Diciadd Deadrs

LAN L3

Fge) “ “

Ty L8}

Z o . 3N £ "

W e

¢o Mwx = 14 + 3L +3Y

8 2

i

Answer 5 2—

Circle the expression for the range of n consecutive integers.

KAMQ ¢ =

So LTOTT ™ AT | .-

AT = n— 1\

[1 mark]

ntt

.—T.D-"r\



10 Three identical isosceles triangles are joined to make this trapezium.
Each triangle has base b em and perpendicular height k cm

Not drawn
bem accurately

— b — e —p
10 (a)  Work out an expression, in terms of b and A, for the area of the trapezium.

Give your answer in its simplest form.
{2 marks)

Paca - —‘:l x Q;ose.-t- T‘c?) x LeAt

= (o sy xWh _ 3uL
2 <

Answer lbl'\ cm?
2

o 15 bk
e L(-Sbh

10 (b)  This diagram shows the same trapezium.

Not drawn

bem accurately
sem = 2b

2k / s
2 \ 2

e b P e |y —>

b:s=2:3
Work out an expression, in tems of b, for the perimeter of the trapezium.
L¢s b _ S ~ [2 marke]
22 8 p3 3 Ca
2
\‘s'p—h'a [ mhﬁﬁ\‘\i - b & Zb—\» ? L 1 "-: E
< 2

= b +3% = Ltb
Answer éh cm

11

Circle the inequality shown by the diagram.

o —

i J

6 5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8

oy

{1 mark}

4 g x<5 4 <xgH -4 <x<5 -4 <x<g5



Two congruent regular polygons are joined together.

0.526 x 39.62
ey T e

Not drawn
You must show your working. accurately
. 2 [3 marks] \/
32:L° = §h b oy To 4o
= 1600

uc‘\?"é) Ruumea T WV oo = 1D
\

12 Use approximations to 1 significant figure to estimate the value of 14
O+ 5%5 QOWNDS Ty 0. €

Se S %600 = %00 . 20 v ANLLE =30
L O Lo T T
Answer % O Work out the number of sides on each polygon.
{3 marks]
13 x:y=7:4 NumMd o ok S\QCS
xey = 88 = 360 T ExTowor Qe T
Work out the value of x—y 3O =20 = S6+2 = \2
JC— N 3 [3 marks]
+ . Yy F ¥ b= I ‘\xe,s 12 510>
wx+ = €% Y
F:U N s
%y { 2 *-8 Answer ‘z-
St 21 _ y
Sb-32 = 24 A
: y is 100% more than x.
Circle theratio x : ¥
[1 mark]

loo} 200f = (L2

Answer 2 L‘
1:100 100 @ 1 2:1




16 Water is poured into a tank.
The graph shows the number of litres of water in the tank.

120 ,
100 LS
| L6t
Number ;
of lifres 601- 1
“ T Rewe= L2 215
20 ! O
%% 4 & 8

q Time (minutes)

How much water is poured into the tank each minute?
Circle your answer.

. [1 mark]
1.5 litres G;tres ) 30 litres 120 fitres
\\_’//
17 A and B are similar solids.
Solid I length (cm)
A I
B | 21
Alex says,
“The volume of B is double the volume of A
because the length of B is double the length of A.”
Is he correct?
Tick a box.
Yes No 71
Give a reason for your answer.
[1 mark]

Lisosdne SCAE Aauron. = 2

Veovuwmne Scace Facxen = 22 =K

2x+383 = C
2., = - 3%, Soc = 22
€T - -
18 Circle the two roots of (2« +%(?)x-2)= 0¥2 > “~S—~
[1 mark]
/3 2 /2 3
\_y 5 [ 5 2
i
18 The diagram shows a triangle and a trapezium.
Not drawn
accurately
LS
LS
V¢ O
Provethat a=5
{3 marks]

a+ 65+ +C = 3I6C

a 4\3‘0 + L =366
o AxC = V&0
@AMJ b+ C =z &0

so o= \yO -%

O Yy C =\

O +\¥O - = RO
150 +b -1¢0C +bo

- o ,
O /

(tiscrmont Ane L:S)

Su2stituTe et )




22

20
The first four terms of a sequence are~{2—10 -8 6 —4 Circle the equation of the line that is paralle} to the x-axis.
== [1 mark]
i . - 2 +2 4%
Circle the expression for the nth term of the sequance.
-1L [1 mark] ———
Z(\ (/ y=-5 x—y=0 x=3 x+y=0
~12-2n —8-2n n+2 2n-12 \
23 The equation of acurveis  y=(x+ 3245
Circle the coordinates of the tur‘ninggpéintg)
24 A, B and C are points on the axes as shown. [ mark]
¥4 (5.3 (5, -3) (3.9 @
Not drawn 24
accurately
Multiply out and S|mphfy (x— 8)
/? [2 marks]
|
| (2 *8) 2 -8)
}. 0 c * o {—i‘:{/ +~ LYy
|
(o) s
/
" L L’r
Answer % - 1 E P ¥ i
The area of friangle ABC is 28 square units.
Work out possible coordinates for A, B and C.
Aacrm oF TN < U b W (2 markel
€ e~ T — wDeap —
Bose x Mewnt = S5b = ¥x7 ZE
> -
Plox copanmaTel To GWE  RWsE ¥ 5"“‘ ;

AN Ve wntT F

2) A0 S, 80 3, ¢ F L,




25 15 machings work at the same rate. v $
Together, the 15 machines can complete an order in 8 hours. Y:I %
3 of the machines break down after working for 6 hours. \ 2~ O
The other machines carry an working until the order is complete.
In total, how many hours does each of the other machines work?
[3 marks]

TotTaL T TAKTNDT ¥ ¥ IS = 120 Henes
D acimch STof RETEN [ Weuts 80 THSWL TimE
= 3Xb = ¥ uouns
Ti® T = V2O =1\ ¥ = 1O% Muuns
D2 Yuouyd LEFT BETwufeEN D A cqeacd
W= 2 = .5

Answer % & 5 hours

&_.S
12 | SYIRLJoN
-q96 |

o~
)

. 7
7=1
2% (@ 07=g
Use this fact to show that .07 = -g%
¢ M [1 mark}
O+ Flp=00%
So F o - FLN - 3
4 =t 9 lo Y
26 (b)  Using part (a) or otherwise, convert 0.27 to a fraction.
Give your answer in its simplest form.
[3 marks]

ij" X = 0‘2‘?"?’1-—-
WO = 2.7 F3F F .
27 FFF F-- |siens

oo x =
—“lox == . 72+ F F .. J1ox e 100x,
Abx = 25
A0 \ ¥
Answer -g/‘g




27 (a)

1
Work out the value of 81 4
| [2 marks]
| =
g~ 3
L
Answer 2
27 (b)
Write 16 x 82 as a power of 2 in terms of x.
[3 marks]
4
16 = 2
% = 2°
] 3 \FE M7 L
> =(2°) 2 =2
he bx LWebx
Wxg?™= 2% 277 = 2
L+bx 2(2+3=)
Answer o 2

END OF QUESTIONS



